Monday, September 16, 2024 A

EE 481/581 Microwave Engineering
Quiz #2 (Fall 2024)

Name /éé/y ﬁ

Instructions: Open book & notes. Place answers in indicated spaces and show all work for credit.

A coaxial transmission line is to be fashioned for operation at 2.4 GHz using a brass alloy (&, t0, Gbrass =
2.4 x 107 S/m) for the conductors and a plastic for the insulator (& =2.4, po, tan 8 =2.4 x 107). If the
inner and outer conductors have diameters of 3 mm and 9 mm respectively, find the complex
permittivity & effective conductivity of the insulator, skin depth of the conductors, and distributed
parameters R, L, G, & C of the transmission line. The outer conductor is 0.5 mm thick.
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Monday, September 16, 2024

EE 481/581 Microwave Engineering
Quiz #2 (Fall 2024)

Name /4,:/\/ g

Instructions: Open book & notes. Place answers in indicated spaces and show all work for credit.

A coaxial transmission line is to be fashioned for operation at 2.6 GHz using a brass alloy (&, (0, Gbrass =
2.6 x 107 S/m) for the conductors and a plastic for the insulator (& = 2.6, o, tan 8 =2.6 x 103). If the
inner and outer conductors have diameters of 2 mm and 8 mm respectively, find the complex
permittivity & effective conductivity of the insulator, skin depth of the conductors, and distributed
parameters R, L, G, & C of the transmission line. The outer conductor is 0.5 mm thick.
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